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Ve AL RN

EFRAS R RS
2018 &£ 5 H
YE& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.003 - 0.213 0.007 &
LA i 1.512 0.002 — 0.439 0.041 =
/L4, (HCI) 4,545 0.001 — 0.246 0.113 =
mIbE (HF) 0.306 0.003 - 0.106 0.041 =
— &b (SO2) 15.147 0.043 — 8.292 2.700 =
—4&bi% (CO) 7.578 0.017 - 0.132 0.062 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 1.244 — 14.784 4.741 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.005 — 0.030 0.008 &
LA 0.756 0.002 — 0.108 0.041 =
Z/LE (HCI) 0.756 0.061 — 0.160 0.113 s
wAbE (HF) 0.072 0.028 — 0.061 0.041 s
— &b (SO2) 3.789 1.823 — 3.086 2.707 =
—&Ei% (CO) 3.789 0.039 — 0.095 0.062 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.879 — 10.873 4.784 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0056 &
IR R g ) 7.575 x 10°° <6.166 x 1020 &
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EFRAS R RS
2018 &£ 5 H
YK AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.002 — 0.046 0.005 &
LA i 1.512 0.000 —0.214 0.042 =
/L4, (HCI) 4,545 0.033 - 0.368 0.158 =
mIbE (HF) 0.306 0.003 - 0.158 0.047 =
— &b (SO2) 15.147 0.001 — 7.960 1.828 =
—4&bi% (CO) 7.578 0.000 — 0.352 0.012 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.920 — 15.279 4557 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.004 - 0.011 0.005 &
LA 0.756 0.008 — 0.100 0.042 =
Z/LE (HCI) 0.756 0.119 — 0.242 0.158 s
wAbE (HF) 0.072 0.040 — 0.055 0.047 =
&R (SO2) 3.789 1.422 —2.722 1.828 =
—&Ei% (CO) 3.789 0.004 — 0.046 0.012 =
HAY (NOx)
DL E/EE (NOY) 15.147 2.597 — 6.865 4561 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0053 &
IR R g ) 7.575x 10°° <5.971 x 1010 =
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2018 &£ 5 H
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.001 — 0.086 0.008 &
LA i 1.512 0.007 — 0.554 0.051 =
/L4, (HCI) 4,545 0.007 — 0.203 0.096 =
mIbE (HF) 0.306 0.005 — 0.067 0.030 =
— &b (SO2) 15.147 0.044 - 6.113 1.995 =
—4& kbR (CO) 7.578 0.000 — 0.060 0.004 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.655 — 8.066 2.107 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.001 - 0.016 0.008 &
LA 0.756 0.014-0.121 0.051 =
Z/LE (HCI) 0.756 0.051—0.122 0.096 s
wAbE (HF) 0.072 0.011 —0.041 0.030 s
—&AbiR (SO2) 3.789 0.913 —2.388 1.966 =
—&Ei% (CO) 3.789 0.001 —0.011 0.004 =
HAY (NOx)
DSBS (NO2) 15.147 1.132 — 4.001 2.128 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0058 &
IR R g ) 7.575 x 107 1.161 x 10° =
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